i
__i

o
el
o
m___IL

1.

-

._u_.u
RO




i

Hu

)
o

i+4+6

— <

— o

.

ull




Ths} A7) DL o] £2ES 8 9] MG o] ol Hot §

Sl Lol Fe02 k. 149 16l
2 LU










D

@ Sim

1

@ ?km
2

©) 1?km

1
@ 1?km

B

EAB] 7 7jo]R 722 6 ol Bz




Zh=3y, =t =6 2 o, b A9 9 TS,

4 4 4 4
® = @1 o2z @3 @4




721

)

55
12

55 1
_X_
6" 2
1 55
48

—=+2
55
12

1
6

=4

(N
12

=] Zo]9] gto] Huyot

wehA 9

4




3 4 24
@ 13 cm? @ 45 ;m2 ©) 12% cm?
@ 18Z cm? ®)23— cm?

A2 ALY Y] 7tR7F 10|19 A2 3ufol B2 A =3
8 Ay .

rr

8

4 64 1 8
7129 Z10]) =12- +8 =" x - = —
(7F= 9 do]) c 5X§ =

3

zlgcm

3 8 24
Mz29] Aol) =1= = — == —4-
(A=) do) Iz x3=2x3="=4zcm

_ 4 4 24 24 576

AALZYS 0] Yol) — 4= > 2= _
(o 39 | ]) 5X45 5 X—5 —25




A 7] A7} 1 Bl At &o] T
71A7} 1 Eoll BAohe &2 T4
802 +15 = 22 x b = o0 = 5 (ke)
A-B-= 5% - 51—78
48 35 13
=555 " %95 = 90 ke

— A 7]A7} ;—Okg o wro] AAts o},




